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A. feqR enssr B, @ C. gfas

b, CoY wifreE qRN (B B A e
A, o g B. *lsa® el C. 995w
D. gEie sm E. 704 (514l

APl s e e
5. S TG TN FRGI @ T ABS?
A. TS B. wf@ra C. Taige

D. S%g8 E. Tq8

" BATIFAG FH R?

__D..mwwrﬁ E. =g ks

A. e @eW B, W e 28 C. S9E 959

¢. AW FWAA RIS FOUY @HD?

A wfees B. ;M@ Ffds C. wawafes 5=

PSR

. TR *0A RS T E®Lo......n.. ;
A, % B._sﬁﬁﬁ@_ C.owegmt Do E. w59

X

A. ¢ciEm ciewl B, T8 Awzes S
C. o: geea 729 D. 9939 9= G1gF  E. 91 T
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vo. 'Etiquette’ 471 Afisifis == @Fb2
A, f42 B, 4% swad C. Pt
D. *&wm fierm B, FEnm

1. Do not trust a man who blows his own trumpet.

What does the underlined idiom mean?
A. Praises himself B. Praises others
C. Admonishes others D. Flatters

E. Makes noise

2. There's ... food in the house, so we'll have to
go out and buy......... .
A. some/any B. a/mone C. none/it

. D. any/them E. no/some
1 - Some 43X any TS Quantiy ©




3. You haven't eaten the entire cake that is made
for tonight's party,........”
A. have you B. didn't you C.did1

D. did you

E. haven't you

4. . A person unable to pay his debts is......... .
"A. poor B. bankrupt C. miser

AL LR
o

E. s_ol

A. Gander ; Goose
C. Bull ; Bitch

5. Which of the following is analogous fo "Rooster : Hen"?

B. Lion : Mare
D. Duckling : Drake

ns

E. Cow: Calf

6.

An enormous ....... of locusts ate all of the crops.

Swarm of locusts

A.herd B.bunch C.school D.bevy E.swarm

op

9. Brexit refers to fhe exitof i from EU.
A. Brazil B. Bangladesh = C. Belgium
D. Britain E. Bhutan

10. Which one is the correct spelling?
A. Indispensable B. Indispinsible
C. Indispensible  D. Indespinsible E. Indispenseble

Addlie rﬁeans............... ;
A. sand B. cement C. brick D. steel E. cast

12.“ Choose the correct sentenc
A. Cut the line B. He did a mistake
C. He committed suicide D. He is devoted to drug

7. 'Aviophobia' is the fear of.............

A. driving B. reading C. running
D. playing E. flying

regularly.
A. own/serviced
C. owned/to service

... 4 car, you should get it..........

B. will own/servicing
D. had owned/being serviced

E. would own/h

E. He denied my invitation

e

13. What is the synonym of 'optimist'?
A. Hopeful B. Friendly C. Amicable

" D.Capable __E. Faithful

14. An auriscope is an instrument used for
examining the......... .
B. nose




15. The full form of the word 'cab' is......... .

D. cabbalah

e o tefis o S IR A AR
A fdiopreia @ B. A%eR @
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E. F7R10%9 3@
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B. H=R*Vt
E. H=IR%

A H=TRt
D. H= VRt

éﬁwmﬁwﬂa(a)mm(l)wmr

B GF SO T TR, oo
B.[ML'T Y
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C. [ML*T7]
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C.O D. ;lpeak E. 1.11
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AR B T T SRR T IO
A:11.2ms™ B. 1120 ms™

D. 112km~;‘ _E. 112kms

C.11.2ms

:az7°cmmma$mmmwﬁnm

ARTH........ |
A. 3500 ) B. 3845 J C.3650 ]
D. 3741 ] E. 3835 ]
et : E“%RT:Ex83l4x300 37411
e e s

se. ﬁmmﬁwmmmmr
A.kgm’B.kgm C. kgm ' D. kg

C. AT FA® FHIE (Y
D. siierer=ibias 7 7eE Tew @iy
E lﬂﬂmww Skl

E. frssid

[Ans:Bi - ]

St GPE S8 ﬂﬁw mﬁn‘mﬁwﬁmﬂm mﬁ
et fcw ST oretg A oo | TEPeNe B TS BB
e 13g 265 km | 8% “{rwdw 7= For

A. 365 km B. 0 km C. 265+2 km
265

D. —km E. 530 km
V2

w mamwmmaﬂ@ammwm' mlm

Ans B

s, lwmﬁwmwmmwmr
A. 6.02 x 10
D. 8.99 x 10°

B. 1.6 x 10" C.9.0x 10
E. 6.25 x 10**

Ans E. e

0. w%%ﬁmﬁmm

A. @ wéifes, waq wdy B, @0 w4, mmﬁﬁn
C. @ 7difes, 7@ s D, @7 #diag, #ad 741Es
E. 3 74wy, g9 w4y

= cﬁ%mﬂwcﬂﬂ*mﬁmaﬂmﬁr

B. L =i
®

E L-F

AL=-I— C.L=1w

Df—Iw

2e. mmmwmmwm:wﬁsmr
A =% oTm B. =ifart a4 C. 953
D WWW E. mm@f@aw

-y mwwm-pm 100 km@mw
Fwoe o+ | R = 6 x 107 kg @ pEIE
6.4 x 10° km| G = 6.673 x 107" Nm’kg™” 7=
Toisiafia =9 Ffe Ter
A.891kms? B.9.81 kms™

D. 11.10 kms™ E. 7.85 kms™

C. 11.19 kms™

—111§+33+412 CEBAE *RGH

e A= 21+2J Zka'ﬁ‘;




b, e 2L |
ﬂ ulkiGl A, 60% TaEETET B. 40% w=fs «fio

5. 20 mL 0.002 M K,Cr;0, 530t 3% c# K,Cr,0, St C. 40% W@Qﬁ@ D. 10% Fafis afe
A 40x10° B.1Ox10®  C.40x10" __E. 10% FaumiteiRe

D.4.0x 107 E.1.0x 107"

oS S T AT AR AT T,
A 112,113,114, 116  B. 112,114, 115, 117
C. 114,115,117, 118  D. 113, 114, 116,117

A K, =K, (RT)"® B. K, =K, (RT)?
C. K, =K. (RT) D. K, =K. (RT)™**
E. K, =K, (RT)

FIge WA (DO) & TH 2 mgL”
T T 7R AR W R I SIS AT BFL...... |
A TETE At B. <&+ C. 9e5E ofF
D. ®F E. @62 7y

o, 'S'memﬁm (IS T& S 2A?
A. NH4HCO, B.PbS C. AlLO; +NaCH
__D. Pb(CH, (,00) E. Nes[Fe(CN);(NOS)]

'_ Am__ gooe_C. Sy «fre D. cwrﬁwﬁm

AgX
[X=CL Br,Ij

[X=ClL | AgNO,

Br, I AV L (T Constant)  B. P oc T (V Constant)

Na,S Pb(CH;COO), | PbS (S sras) | S P :

NaCNS | FeCl, [Fe(CNS)]CL, | N+S C.P=P,+P, +P, D. V « T (P Constant)
FeSO,, Fe[Fe(CN)g, LB B 2PN

NaCN H,S0, e N : :

8. 2CuSO, + KI = CusL, + I, + 2K,S0, RRFH cvu

fsa i wdwr

A. Cu*" wifre zome B. Cu*" 43fs fiomss
C, I” fmifis zrme D. I &iffe mame

E. I a3t

145&nﬂ Na,CO; & 7fa erifie ware @ amy
HC]WW?
A.998¢g B.36.5g C. 12_.5 g D.53.0g E. I(}{[}g
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W, s @R griven Ay 3y, TUPAC *&fete (CH,),CCl @z 7w e

, _h R s A, 2, 2- ©iEfaeEE-2 @EReE
Al f\.-—-a B. E=mc C.E=hv B. Srfrad Reniz -
C. 2- @-2- HelEaerem

D. 3- @r=%E
E 2,2,2’.513%»:1‘&?[2 @smmfﬁm”

39, 2.2 8 CO, MIGT = 7RG Fo7
.G i i ] e - | C. 352107
D.2.5% 107 E.3:0x10%

A S0 e A

B, w5 Aqitda ojfew S

C. 95 ¢ HLEA BIREAT FIE

D. «=f6 e smrera 529 tefire

38, CERGR Iy IR© TGS 76 Z.c..e. | E. RO D2 WL S
A.CusPt B. CueHg C.Zn s Hg S S
D. Ch e Pt E. 7Zn e Cu 5%, I ST B T, wvsennncensans |

A.200-380nm  B. 800-1300nm C. 700-1100nm
D. 380- '?OOI]m E. 900-4000nm

wemre e

I«

[wwicorol | 108V |Zn#® | Cu | m9H,S0, | AR o (nm)
| e 140V [Zn+s| C | NHClmad | : < 0.00005
L3V Zn C [NH,Clez o] 0.0005 - 0.15
rﬁmm% 200V | Zn C | HSOoie | 0.01-10

§- R <380

| cerE 1.08V Zn Cu H,80s | 380 — 700

H (T > 700

oW @E | 1,90V Zn C 7g H,50, | >22% 10°

[szroa  [1.01883V|(Hg-Cd)| 7o& | CdSO,&=¢

o Fher Ty R TSI k=42 x 10° s

fRftrabe wdy vor
S o g.;ggmm g. gﬁg min C. 1.75 min
Ai560 B 4052 €. 68 2 sDi70ME 62 R SRRl SIS AL

35, 25°C R 0,01 M NaOH 5307 pH 72
A 12 B.5 C. 1
D.2 E. 10




A, 73 Afire gdres NaCl «3 w4 2.6%

B. 57 <R “ifce Ca, Mg ¢ Fe g 929740 7t wige 4z
C. EDTA T 2ffFmsienin aieneiis afe

D. =a wrfa 8¢ ¢ e s afefre wh oie sz

A BTFTRGA Ay vt B. &G e vl
C. 2B Fey gr D. =% e g

9. CLIFTON *=fba "qeE wad e @it R toft 7=t
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et | Rembee e W' Foar v Aty

C % D.#;,  E.3!

A. 6! x 2] ]3.g
5

8. j__.de'_ -9
tan 0 log sin 6
A. log(logsin®)+C B, cot8+C
C. logsing + C D cpsqul + C E lQ «’:(_:a_tl?I +C

e. X=f—t€y=\/3t+l?¢ﬁt=lﬂﬂ:—yﬁ
X
AR B- A p 2 wrmd
3 4 8

v, Yy =azm gi—;=?

1
A. 2% B. ZlogxC. " D. ~Yogy E. Xiogy
. SR X e

L-2x+ 300+ ) @ ReeE X @
HEeeeninaanns |

A 165 B.140 C, 160 D.-22  E 144




v, X +px + qx + r = 0 T = P oa, B,y TA

i.{.-l—-i—i 99 1 ... |

By ya op

A- _R B. _.1_). C —-q— D. B E"
T

=

2 Rrs f(x) 47 REPEN 4R
B.>2

C.0 ==l

so. ¥ vRemANm T ax + by = ¢ ¥R bx - ay = ¢,
@4 a, b, ¢ 99 T WY 7| e 79 ofw
A T B. «=f5 e oo 3 Ry 7w 7w
C.ofh e @rsm D, swesm

3n

o3 Rgfre x 2 om............ |

B.(n-1)ww=m C.(2n+ 1)e=m

3 {2+1
= X_Z_
X

A.n ¥R

33, a0 + byx + ¢; = 0 G a,;X° + byx + ¢, = 0 FTIAA

FUER R LR DIECE T e

A, aja; = bib, = ¢0 B. a;a, # biby # ¢

C.ﬂxﬂahci D,a—1=b_1=f_1_
a, by €y ay- by ey

Eﬂ;tl)-l__-c_]

P S

2,

38, X W © (=5, —7) (XTF (4, k) Relow g 70 T k @

a2 C: ~%—5- D. -130

A.20 B, 4 E.—20

A0 R

so. A=2i+]+3k b=i—j+2keC=1i+2]+k %
o % ST WA T 4., |

A. Exb)x¢=0 B. (axb)x&=0 C. (Axb)T#0

D. (ixb)c=0 E. (@b)c#0




3. X+ 2x ~ 8y = 0 ImEeE (2, 1) Fege i

A d4x-3y=4 B.3x+2y+4=0 C.3x—4y=2
D.4x+3y=4 E.3x—2y+4=10

s

Iil
.
5
#

1
Y. log,| =

G

0 ﬁwmﬁﬁw |
A 10x+1=0 B.10x-1=0 C.y=3

D.y=-3 E.x+%=0

22, 2cos’0 + ZJE sin®
A 0°  B.180°

C-90°% - D, 45°
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xo. I T figed 933 MRAre 12 9ig w9k P e 2P

AR B = I | < g o i e [

A 7P, tant| L B. 7P, tan"! k)
2 2

C.P, tan'4f3 D. 3P, tan"'(2)

E. 7P, tan™! g
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AfeorEs ARSI ¥ i AR T
A IEW goEm B, wgaiEa C.

D. sgeeg E. s&st

S WA NG ARG 1 Y TeAH (R SRR
T ey

A. BT B. TR C. zfanzm

D. 534y E. oiféwem

RSt &S e IS TRTWIY P @l 3057
(T G TR
A. % B.% C. 7iex
D. 8% E. 799

A ] B. 71 C. e

So. ‘FEEFSIC (I AT,
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l remembered__ the prize.

Choose the alternative A, B, C, D or E that best

compietes the following :

1. 1 cannot touch the roof on a chair,
A.evenIstand B. even if] stand C. even stood
D. if stood __E.ifeven stand |

2. The picture is the corner of the room.
Aat B.on C.in D.to E.ove

% It's waste of money things you don't need.
A. buy B. bought C. you bought
D. to buy E. buyin

of you would like fo go first?
A Who B.Whom C.What D. Which E. Any

5. It never my mind that she might lose.
A. cross B. crossing C. come
D. crossed E. spring

6. The npposité of 'discreet el
A. undiscreet B, indisereet C discredited
D. disrespectful E. deliver

7 Prices have increased By 30”6 : percent.
A.asmuchas B.asmanyas C.asfewas
D.somanyas E.so much

E. boy won :

J: 2016 - 2017 (131)

A. the boy's winning
C. the boy winning

B. the boy to win
D. the boy's to win

A.fail B.fails C.pass D.passes E.want )

10.

”Many a student

on the first try.

to qualify the driving test

11

12

Biopsy is the examination of cells____ a living
body to find out about any disease it m1ght have.
A. taken from  B. taken out C. taking from
D, took from E. taken into

Our biological clock is our body's natural
habit ___ at particular times.

A. to sleeping, eating and growing
B. to have slept, eaten and grown

C. of sleeping, eating and growing
D. of sleepmg, eating and to grow

E w1th a vmw to sleep cat and g ow

'Maiden speech’ refers to ;
A.lastspeech  B.late speech  C. first speech
D. early Speech E. cnncludm specr.h

13.

Three-fourths of the assignment v

A. have been finished
C. has been finish

E: has finished

B. has been finished
D. have been finish




14. Now the internet all over the world.
A.isbeingused B.isnotused C. hasused
D. is being use E. was being used

e

15. he word "ecological’ is related to :
A. Demography B. Pollution C. Environment
D. Ammosphere E. Economy

D. (Ghime E. coibizmEe

c;ﬁﬁvstwm &
A. GFBIGw B. g C. "TaiEhe
D, fezifes E. sasiEEtm

e Tl
A, Zyame
D, @EizwEs

<

B. fesirre C. fizee




yo. @G C, Sfam?
A gw B9

v. Ex-situ SHeRreee Snmgs @.......... |
A. A AF B. S@I9E C. i simes
D. WEwE 4 E, o s

S S S SO

A. Chlorella B. Nostoc C.Ecoli
D. Prion E. Spirulina

s

». ‘. S e Wmmﬁ“"..‘n- |
A. s B. o wwed  C. g@ smedi

S, CIBIRE q0HR SP1S FAL........ |
A. Electrovalent B. Covalent C. Coordinate
D. Tonic E. Salt bridge

£y met

A. ATPase B. NADP C.NAD

D. FAD E. FMN




3. TEIS-v7qe IR RS 6T (FH?
A. C-phycoerythrin B. C-phycocyanin
C. Chlorophyll-b D. Chlorephyll-a
E. Xanthophyll

FE & TS G | PR RE
0. (@b Urotiales WW? ;

" A. Penicillium B. Saccharomyces C. Saprolegnia
D. Agaricus E. Helminthosporium

e

33, SEFEIRSE Jed @ ARHeS BT (vl TR
A. Moraceae B. Poaceae C. Fabaceae
D. Malvaceae E. Lamiaceae

XX, WPTR TCTRE ST PIPDT (FITEA (IR SRES?
A, TEGREE wedRfte B, TEGekIr Rk
C. FiSTGtzmEs D. @it
E. siefaiea #i= gim

R0, e TR ErerR TeaimE Ulew w6
A. Linked gene
B. Epistasis
C. Codominance
D. Incomplete dominance
E. Non-linked gene

ST IR SN
s &@5e  (incomplete
dominance)
o= & (lethal gene)

33 R TS
“ffasig@ & (Complemeniary gene)
<57 (Epistasis)

3¢. UNESCO 47 Fvaaes f a@feey aua caraolt wt=7
A.dsre B.sba C %3 D, 206d E. 2006

& Gfenr

5.  Eucoelomate 57 37

A, Annelids
D. Molluscs

B. Arthropods
E. Nematodes

C. Echinoderms

AT

| (Acoelomate)

Porifera, Cnidaria (¢&=TIRF),
Ctenophora, Platyhelminthes
(o751 S, fRFergfi)

Nematoda (FBRfE- round
worm), Rotifera,
Kinorhyncha

Mollusca, Annelida,
Arthropoda, Echinodermata,
Hemichordata, Chordata

Pseudocoelomate
(Seigs frees)

Eucoelomate

(e PreeTeas)

% @¥eme  (Classification) I9a® ffey  wIbwRe
(Ranks/Categories) (%0 @ i R 7,

A 7 53 o oE - oW o 99 > gEle

B. @ — &t — ot — 7 - @ - gmE

C. a@ife — 9 — ¢ifg — 97 — 25 > @F

D. * — ot = 3 — ¢1F > M — Gl

E. o — awfe — sid — o — 35 — @f

A. Actinopterygii- ® B. Chondrichthyes-%
C. Myxini- (s D. Sarcopterygii- ¢©
E. Cephalaspidomorphi-(
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A. w8 w5 w5, fw 2w SagE wesa 7 3ene
B. 5w 151 @ “roient 5l Fra weafade wrE A
C. =1 fom o {2 - ub sy (o) ¢ 9o e (Fem)
D. atgnrifie

. 0 TR CFUR (G ey
A. 38 TR0, oIS @3 TG S0-53 (IFGRIBR
B. 3@ #ofl, B1%il @32 e v3-de IBRGR
C. 3% B, B1o11 43 27Ty 53-3¢ GFSHDR
D. 3% ftab, 51l G2 0 So-33 CIRAGH

¢. 3 49T FR WTer CCR A5 S PR 4T A T2

E. zﬁw ET‘-‘Ht-‘J?PE‘TC‘{ﬂbo >qcvrf%ﬁf:ﬁ

Teoiy =0 2

so. ﬁﬁﬁf Cﬁ’!mﬂﬁ?ﬂ?@ﬁ vﬂfi (Pituitary gland] NC*F

A. o &t B. 8 &% C. ¢ &7w _A.STH B.MSH C.FSP D.TSH E.PTH __
aifg T
STH, TSH,
PROR (Master | ' | ACTH, GTH, LH
gland) (27 %) ERTEIE] MSH
| IS ADH, Oxytocin
[[ZAHC 28 (Thyroxin)/ (T3), Tri-
(SREH-FH0T) iodothyronin (Th), Calcitonin
RIRAES Parathormone
42T Thymocin
A. ¥50-330 mm Hg B. 9o-t0 mm Hg o Cell Glucagon.
C. doo-3>80 mm Hg D. 50-330 mm Hg WEEGH =1 B Cell Insulin.
E. 90-300 mm Hg s R y Cell Somatostatin.
__M 8 HIGTH. [SrEEH-Sg] | Pancreatic
X £ el polypeptide.
Glucocorticoid
cortex Minerelocorticoid.
ST Sex corticoid.
A. AVN (Atrio-Ventricular Node) Medulla Adre'é?lm y
B. SAN (Sino-Atrial Node) o 2| SPORRE AN
C. 3= w37 ﬁﬁ (BundIe b Hisr) _ﬁﬁ?ﬂﬁ (ﬂﬁ’tﬂ\:ﬁlm) Melatonin
D. SRefears (Myocardium) m{;ﬁﬁﬁﬂ T | Testosteron Androgen.
E Lﬂwmﬁ‘m (Endocarcllum) :
: — femerm (oo
pLocER Estrogen, progesteron, Relaxin
ﬁa’l‘ﬁ E"ﬂ?‘f
5. ‘ﬂﬁ'm% ﬁtﬁ"ﬂ = ‘Wﬁ‘w‘? (Cumplcment) B ‘ﬂtﬁ
et 2w e fyer

v. ﬁmmﬁﬁmmmm:
A. (OFBREA — FTRE —> APWE — I —> FTFAJD
B. SfBREA — HPWE - I — T — TP
C. T — (SFERTH — PR — 907 — JTH
D. 3= — 7998 — T —> (SHERET — e
E. maawa wﬁﬁ%ewmawﬁ

C. 2
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M. " (Schwann) CFI¥ 9NeTl TA.......... |

A. T B. o7 @Es @ CuEEy
D, S=dt ¥ E, b

A, St e B. miztaefhare fEue _ : : _
C. e fowe D. G femy 20, Hydra- <9 (o7 A0H FRGETE R0 s

C. GEfsF 3B D. GhmPA E. smefrs

33, CUTE @ AT......... |
A. fesams B. ®I%F C. fema
D. ceion E. R

so, NIRRT TER F, O5F (STA0ROE Spie . ..... |
A w:d B.s:2:d C.5:9:9:)
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QS WWWWDNAWDVA
wef FBR S TIFS ZH7

A, 3o B. wE  C. 98w

D. coliFi avensy E W@T@Tﬂﬁ

GRS ! TIRA
| DNA — Ligase | Fieie DNA 46 @it s ||
DNA — Polymerase DNA Siffeioftaa &ay

[| RNA — Polymerase RNA viegsmns
| Restriction enzyme |
3¢. W .
A. cifaam B. cife@m C. CTg= w=eTiestipt
D ZRcuRmwite B <pe

S, Fsw @R A A 50 R 0.1 N NaOH elafes ey zeide

A. a3t 50 .5 «famrsis faem

B. 4af6 50 fi.f. e sfima wg
C. g=fB 50 f.f. ~fmes o1 Bifer
D. a%f8 50 ff&, s wrrefis Frs
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q, D BEm enEeeR 36T Seiwey 2. All the books have been sold. There  Jeft.
A, F=HE B. St w1 Ft A.arenone B.isnone C.none  D.not any

C.3feds D. e 797

v, WG R 22 | - A (P A5 S 3. 1lay for sometime the clouds in the sky.
A gy B.wsfEfeer Coemmys D, Hus A. watch B. watching
T RO N s eEsd C. watched ' D. see

4. That was the best match I for a long time.
A. saw B. have seen
C. am seeing S, D. see

5. IfT had seen you, I : you the letter,
A. would givc B. had given
C. would gwcn D. would have given

A. FF- TS B. srmaiet 6. Choose the correct meaning of ‘secluded”.
A. quiet B. set apart
C. beautiful D. satisfied

7. The team studied mice with a disease that

caused them prematurely.
A.toage B.age C.aging D. aged
8 Can you tell me where ﬁnd the book?

A.canl B. can C.Ican D.dol

1. The weather is so you never know
what kind of clothes to wear.
A. unpredictable B. unreasonable

C. certainly D. unfathomable
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10. A lot of mune3 in the robbery.
A stole B.stolen C.isstealing D. was stolen

my favorite pastime.
C.were D. has

11. Reading novels
A is B are

13 She will have finished the job before P
A. he come B. he came
C. he has come D. he comes

14 I look forward to in no time.
A, hear from you B. hearing to you
C hear for you D. i

IS “The word © pragmatic’ refers to :
A. fussy B. practical C. frugal D, wasteful

16 This is the ‘go’ of the world. Tiere ‘go’isa/an .
A adjecuve B _pronoun_ C ddverb D _noun

9. The experts were looking for clues to determine | 17. The rich should not look down the
the fire started. underprivileged.
A what B.that  C.how D.who A. upon B. on C.at D. for

18. Unfortunately, my favorite teacher
since Wednesday last.
A, is suffering from the gout
B. has been suffering from gout
C. has been suffering from the gout
D. has been suffer from the gout
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My beloved mother forbade me :
A, not to get involved in militancy

B. not to involve in militancy

C. to get involved in militancy

D. to be involve in militancy

19.

A good number of students of Engineering
Faculty are planning to go England, they
are learning English.
A. but

C. so
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B. although

D. since
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